EARAROBEEIERT — 2 N— IBISH —F

2014F78 118 (£) 6EAH6H

m;’\';‘(—)l«t"—%" B1=B2=- #5%—f& \ (x42] 7 \ [3eEmsh]l  — | & (&) 1400M &
[xE<£] 1 % :3,200,000 @ ~ 23 :960,000 @ ~ 37 :640,000 @ ~ 4 3 :384,000  ~ 5 7 :256,000 M
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
sges ] :25. -2- . — EIE=ER (KFH)
118111 ZIH IS — 4 5 o= 1(2_5)6 3-2-1 37.9 5 (4_829) mng}m
LT RIAYIY IR BRTYLTEATH EvilLyR77—L4
4 5 | AKER 1:26.3 6-4-3 [38.4| — 9 503 | maEH (KH)
20719 HLY) 57.0 (3 1/2) 1) |EHR=ER
LY LTAN=—b B E—LA K- Y
. MAEA -3 - RIS (GFn)
3 NETPETES 2 o7 foe 1(216>.5 2-3-3 | 38.7 7 ;1_910) el
x> J4TEA4Y B:Va v /IR R R
R SR . -10- - FALBE ()
4 6| *ELTFIrOL 4 5 e 1(.12/62.)6 10-10-10 | 37.5 1 (5:)57) vty /N
RHIRT 4GSR BTG5 ReE— b 75> Fiis
. i o6 | EMAIIE 1:26.8 8-7-6 [38.7| — 2 575 | BREIES (k)
5\7|8|Ev7AYN- 57.0 (1'172) (g |
gy TALAVF— B:O—-LILTA JT—IWRKT 7 —L
R TIN o6 | RER 1:26.8 9-9-9 [38.1| — 10 | 483 | WLi=hEfE (afE)
68|10 7 X 7Y =~ A 57.0 (76) o |EaTE
L:77)—h B:R&2—"JxH REBS
— 6 | Iz 1:27.2 4-8-8 38.7| — 3 501 | KEEE (IS
d - KRS 0] 5 @ (1) | R
LT INAY R BU LKL Y B 7S
= e — mRY 127, -6- . — JEF IR (/)\HEF)
8/5|5 T R¥v=2F > "0 E;.JO (11217/25) ros 9.4 ! (4_617) AIEE=
R:TLEFFE2T1 BiUqE—ET J—ZENZXRZTI AL N
LS H o6 | BEAH 1:27.7 457 |39.6| — 6 503 | RmIATR (KH)
9 2| ARXET v FI 55.0 (1 1/4) -8) BABH
LA FNELI N B RU—LELY—X =% M3
o HEIBThEE :28. == . — B (KH)
10 3| 7¥ /727U - H 6 i 1585 1-1-1 | 40.8 8 ?&2 EanE
L:aAvsE—A>F—7 B:IT7h-H%U7F liEszie ]
N . t 4 | EBEZ — - — — — 532 | FHEHFKABE (KH)
x| 11| FITvFaser g 57.0 (B41) (44) | W) 70T 7%y
RYIRG4F52 B:R2—b7vay +H %
® I —F—@EBIERL
13—7+—
2= = 3,4,11,(2,7),9,5,8,10,6
Jol=5r= 3,11,4,9,2,5,8,7,10,6
41 —F— (3,11), (4,9),5,8,2,7,10,6
[ N3
B OB 1 740M 74K 9-11 1,380H % E 7-8 1,420M RPEL ) 4-9-11 22,210
8 B 1 270M 4-11 1,590 P B 8-7 2,270M K31 11-9-4 139,330
9 440M 4-9 2,380 B & 9-11 6,350
4 430M B H 11-9 10,810M

ABICOVWTRDTEEERROODE. TR LIV,



